

## Research Article

# The Relationship between $E$ -Semigroups and $R$ -Semigroups

**Ze Gu** 

School of Mathematics and Statistics, Zhaoqing University, Zhaoqing, Guangdong 526061, China

Correspondence should be addressed to Ze Gu; guze528@sina.com

Received 6 July 2022; Revised 10 November 2022; Accepted 6 April 2023; Published 17 April 2023

Academic Editor: Xuanlong Ma

Copyright © 2023 Ze Gu. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

A semigroup is called an  $E$ -semigroup ( $R$ -semigroup) if the set of all idempotents (the set of all regular elements) forms a subsemigroup. In this paper, we introduce the concept of  $V$ -semigroups and establish the relationship between the three classes of semigroups.

## 1. Introduction and Preliminaries

Let  $S$  be a semigroup. An element  $e \in S$  is called an idempotent if  $e^2 = e$ . An element  $a \in S$  is called regular if there exists  $x \in S$  such that  $a = axa$ . Denote by  $E(S)$  and  $\text{Reg}(S)$  the set of all idempotents and the set of all regular elements in  $S$ , respectively. We call  $S$  an  $E$ -semigroup if  $E(S)$  forms a subsemigroup and a  $R$ -semigroup if  $\text{Reg}(S)$  forms a subsemigroup.  $S$  is called regular if  $\text{Reg}(S) = S$  and called orthodox if  $S$  is a regular  $E$ -semigroup. More details on regular semigroups and orthodox semigroups can be seen in [1]. For  $a \in S$  and  $e, f \in E(S)$ , denote

$$\begin{aligned} V(a) &= \{x \in S \mid a = axa, x = xax\}, \\ W(a) &= \{x \in S \mid x = xax\}, \\ S(e, f) &= \{g \in V(ef) \cap E(S) \mid ge = fg = g\}. \end{aligned} \quad (1)$$

The elements of  $V(a)$  (resp.,  $W(a)$ ) are called inverse elements (resp., weak inverse elements) of  $a$ .  $S(e, f)$  is called the sandwich set of  $e$  and  $f$ . We now list some results about  $E$ -semigroups and  $R$ -semigroups in the following results:

**Result 1** (Result 2 [2]). Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ . Then, the following statements are equivalent.

- (1)  $S$  is a  $R$ -semigroup
- (2)  $\langle E(S) \rangle$  is a regular subsemigroup of  $S$
- (3)  $(\forall e, f \in E(S)) ef \in \text{Reg}(S)$ .

**Result 2** (Theorem 3.1 [3]). Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ . Then, the following statements are equivalent.

- (1)  $S$  is an  $E$ -semigroup
- (2)  $(\forall a, b \in S) V(b)V(a) \subseteq V(ab)$
- (3)  $(\forall e, f \in E(S)) ef \in S(e, f)$
- (4)  $(\forall a, b \in S) W(b)W(a) \subseteq W(ab)$ .

**Result 3** (Proposition 3.4 [3]). Let  $S$  be an  $E$ -semigroup. Then,

- (1)  $(\forall e \in E(S)) V(e) \subseteq W(e) \subseteq E(S)$
- (2)  $(\forall a, b \in S) V(a) \cap V(b) \neq \emptyset \implies V(a) = V(b)$ .

A relationship between  $R$ -semigroups and  $E$ -semigroups established by congruences can be seen in [4]. From Results 1 and 2, we know that an  $E$ -semigroup is a  $R$ -semigroup. However, the converse is not true in general (for example, a regular (not orthodox) semigroup is a  $R$ -semigroup, but it is not an  $E$ -semigroup). In this note, we introduce the concept of  $V$ -semigroups and give the conclusion that a semigroup  $S$  is an  $E$ -semigroup if and only if  $S$  is a  $R$ -semigroup and a  $V$ -semigroup.

## 2. Main Results

Let  $S$  be a semigroup. For  $a \in S$  and  $A \subseteq S$ , we denote

$$\begin{aligned} V(A) &= \bigcup_{a \in A} V(a), \\ V^2(a) &= V(V(a)). \end{aligned} \quad (2)$$

It is clear that  $V(e) \subseteq V(e)V(e) \cap V^2(e)$  for any  $e \in E(S)$ .

**Definition 1.** Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ .  $S$  is called a  $V$ -semigroup if  $V(e)$  is a subsemigroup for all  $e \in E(S)$ , i.e.,  $V(e)V(e) = V(e)$ .

**Proposition 1.** Let  $S$  be a  $V$ -semigroup. Then,  $V(e) \subseteq E(S)$  for any  $e \in E(S)$ .

*Proof.* Let  $x \in V(e)$ . Then,  $x^2 \in V(e)V(e) = V(e)$ . Thus,

$$x = xex = x(ex^2e)x = (xex)(xex) = x^2. \quad (3)$$

Hence,  $x \in E(S)$ .  $\square$

**Theorem 1.** Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ . Then,  $S$  is a  $V$ -semigroup if and only if  $V^2(e) = V(e)$  for all  $e \in E(S)$ .

*Proof.* ( $\implies$ ) Let  $e \in E(S)$  and  $a \in V^2(e)$ . Then, there exists  $b \in V(e)$  such that  $a \in V(b)$ . It follows from Proposition 1 that  $b \in E(S)$ . Also,  $a \in E(S)$ . Thus,  $ae, ea \in V(b)V(b) = V(b)$ . Moreover,  $aea, eae \in V(b)V(b) = V(b)$ . Hence,

$$\begin{aligned} aea &= (aba)e(aba) = a(baeab)a = aba = a, \\ eae &= (ebe)a(ebe) = e(baeab)e = ebe = e. \end{aligned} \quad (4)$$

Therefore,  $a \in V(e)$ . From  $V(e) \subseteq V^2(e)$ , we obtain the result.

( $\impliedby$ ) Let  $e \in E(S)$  and  $x, y \in V(e)$ . Then,  $e \in V(ex)$  and  $ex \in E(S)$ . Thus,  $y \in V^2(ex) = V(ex)$ . It follows that

$$\begin{aligned} (xy)e(xy) &= x(yexy) = xy, \\ e(xy)e &= exy(exe) = (exyex)e = exe = e. \end{aligned} \quad (5)$$

Hence,  $xy \in V(e)$ . Therefore, we complete this proof.  $\square$

**Lemma 1.** Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ . Then, the following two statements are equivalent.

- (1)  $V(e) \subseteq E(S)$  for any  $e \in E(S)$
- (2)  $W(e) \subseteq E(S)$  for any  $e \in E(S)$

*Proof.* (1)  $\implies$  (2) Let  $x \in W(e)$  for some  $e \in E(S)$ . Then,  $x = xex$ . It follows that

$$\begin{aligned} x(exe)x &= (xex)ex = xex = x, \\ (exe)x(exe) &= e(xex)exe = e(xex)e = exe, \\ (exe)(exe) &= e(xex)e = exe. \end{aligned} \quad (6)$$

Thus,  $x \in V(exe)$  and  $exe \in E(S)$ . By condition (1), we have  $x \in E(S)$ .

(2)  $\implies$  (1) It follows from  $V(e) \subseteq W(e)$  for any  $e \in E(S)$ .  $\square$

**Theorem 2.** Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ . Then,  $S$  is a  $V$ -semigroup if and only if the following two conditions hold.

- (1)  $(\forall e \in E(S))V(e) \subseteq E(S)$  or (1')  $(\forall e \in E(S))W(e) \subseteq E(S)$
- (2)  $(\forall e, f \in E(S))V(e) \cap V(f) \neq \emptyset \implies V(e) = V(f)$ .

*Proof.* ( $\implies$ ) It follows from Proposition 1 that condition (1) holds. Next, we prove condition (2). Let  $x \in V(e) \cap V(f)$ . Then, we have  $y \in V^2(x) \subseteq V^3(f)$  for any  $y \in V(e)$ . From Theorem 1, we have  $V^2(f) = V(f)$ . Thus,  $y \in V^3(f) = V^2(f) = V(f)$ . Hence,  $V(e) \subseteq V(f)$ . By symmetry,  $V(f) \subseteq V(e)$ .

( $\impliedby$ ) Let  $a \in V^2(e)$ . Then, there exists  $x \in S$  such that  $a \in V(x)$ ,  $e \in V(x)$ . Also,  $e \in V(e)$ . Thus,  $V(e) \cap V(x) \neq \emptyset$  and  $x \in V(e) \subseteq E(S)$  by condition (1). By condition (2), we have  $V(x) = V(e)$ . Hence,  $a \in V(e)$ . Therefore,  $V^2(e) = V(e)$  from  $V(e) \subseteq V^2(e)$ , and so,  $S$  is a  $V$ -semigroup from Theorem 1.

From Result 3 and Theorem 2, we obtain the following conclusion.  $\square$

**Proposition 2.** Let  $S$  be an  $E$ -semigroup. Then,  $S$  is a  $V$ -semigroup.

In general, the converse is not true. See the following.

*Example 1*

- (1) Let  $S = \{a, b, c, d\}$  with the following operation:

$\cdot$	a	b	c	d
a	a	a	a	a
b	a	a	b	a
c	a	a	c	a
d	a	b	b	d

We can see that  $E(S) = \text{Reg}(S) = \{a, c, d\}$ . Moreover,  $V(a) = \{a\}$ ,  $V(c) = \{c\}$  and  $V(d) = \{d\}$ . Thus,  $S$  is a  $V$ -semigroup. However,  $E(S)$  is not a subsemigroup and so  $S$  is not a  $E$ -semigroup. Indeed,  $dc = b \notin E(S)$ . Also,  $S$  is not a  $R$ -semigroup.

- (2) Let  $G = \{e\}$  be a group,  $I = \{1, 2\}$  and

$$P = (p_{\lambda j}) = \begin{pmatrix} e & e \\ 0 & e \end{pmatrix}. \quad (7)$$

Let  $S = (I \times G \times I) \cup \{0\}$ , and define an operation on  $S$  by

$$(i, e, \lambda)(j, e, \mu) = \begin{cases} (i, e, \mu), & \text{if } p_{\lambda j} = e, \\ 0, & \text{if } p_{\lambda j} = 0, \end{cases} \quad (8)$$

$$(i, e, \lambda)0 = 0(i, e, \lambda) = 00 = 0.$$

Then,  $S$  is a regular semigroup and so is a  $R$ -semigroup. It is easy to show that  $E(S) = \{0, (1, e, 1), (2, e, 1), (2, e, 2)\}$ . However,  $(1, e, 1)(2, e, 2) = (1, e, 2) \notin E(S)$ . Hence,  $S$  is not an  $E$ -semigroup. Moreover, we can verify that  $V((2, e, 1)) = \{(1, e, 1), (1, e, 2), (2, e, 1), (2, e, 2)\}$ . Also,  $(2, e, 2)(1, e, 1) = 0 \notin V((2, e, 1))$ . Thus,  $S$  is not a  $V$ -semigroup.

Next, we give the relationship between the three classes of semigroups.

**Lemma 2.** *Let  $S$  be a  $R$ -semigroup and  $E(S) \neq \emptyset$ . Then,  $S(e, f) \neq \emptyset$  for any  $e, f \in E(S)$ .*

*Proof.* Let  $e, f \in E(S)$ . Since  $S$  is a  $R$ -semigroup,  $V(ef) \neq \emptyset$ . Let  $x \in V(ef)$  and  $g = fxe$ . Then,

$$\begin{aligned} (ef)g(ef) &= ef^2xe^2f = efxf = ef, \\ g(ef)g &= fxe^2f^2xe = f(xefx)e = fxe = g. \end{aligned} \quad (9)$$

Thus,  $g \in V(ef)$ . Moreover,

$$g^2 = f(xefx)e = fxe = g, \quad (10)$$

and so,  $g \in E(S)$ . Finally, it is clear that  $ge = g = fg$ . Therefore,  $g \in S(e, f)$ .  $\square$

**Theorem 3.** *Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ . Then,  $S$  is an  $E$ -semigroup if and only if the following two conditions hold.*

- (1)  $S$  is a  $R$ -semigroup
- (2)  $(\forall e \in E(S)) \quad V(e) \subseteq E(S) \quad \text{or} \quad (2') \quad (\forall e \in E(S)) \quad W(e) \subseteq E(S)$ .

*Proof.* ( $\implies$ ) It follows from Results 1, 2, and 3.

( $\impliedby$ ) Let  $e, f \in E(S)$ . Since  $S$  is a  $R$ -semigroup, from Lemma 2, we have that there exists  $g \in E(S)$  such that  $g \in V(ef)$ . By hypothesis,  $ef \in V(g) \subseteq E(S)$ . It follows that  $S$  is an  $E$ -semigroup.

Finally, from Theorem 2, Proposition 2, and Theorem 3, we establish the relationship between  $E$ -semigroups,  $R$ -semigroups, and  $V$ -semigroups by the following result.  $\square$

**Theorem 4.** *Let  $S$  be a semigroup and  $E(S) \neq \emptyset$ . Then,  $S$  is an  $E$ -semigroup if and only if  $S$  is a  $R$ -semigroup and a  $V$ -semigroup.*

*Remark 1.* Let  $S$  be a regular semigroup. Then,  $S$  is a  $R$ -semigroup. From Theorem 4, we know that  $S$  is orthodox if and only if  $S$  is a  $V$ -semigroup (see Theorem 3.2 [5]).

## Data Availability

The data used to support the findings of this study are available upon request to the corresponding author.

## Conflicts of Interest

The author declares that there are no conflicts of interest.

## Acknowledgments

This work was supported by the National Natural Science Foundation of China (No. 11701504), the Guangdong Basic and Applied Basic Research Foundation (No. 2022A1515011081), the Characteristic Innovation Project of Department of Education of Guangdong Province (No.

2020KTSCX159), the Science and Technology Innovation Guidance Project of Zhaoqing City (No. 2021040315026), the Innovative Research Team Project of Zhaoqing University, and the Scientific Research Ability Enhancement Program for Excellent Young Teachers of Zhaoqing University.

## References

- [1] J. M. Howie, *Fundamentals of Semigroup Theory*, Oxford University Press, Oxford, England, 1995.
- [2] T. E. Hall, "Some properties of local subsemigroups inherited by larger subsemigroups," *Semigroup Forum*, vol. 25, pp. 35–49, 1982.
- [3] B. Weipoltshammer, "On classes of  $E$ -inversive semigroups and semigroups whose idempotents form a subsemigroup," *Communications in Algebra*, vol. 32, no. 8, pp. 2929–2948, 2004.
- [4] K. V. R. Srinivas, "Characterization of  $E$ -semigroups," *Southeast Asian Bulletin of Mathematics*, vol. 31, no. 5, pp. 979–984, 2007.
- [5] Z. Gu and X. L. Tang, "On  $V^n$ -semigroups," *Open Mathematics*, vol. 13, no. 1, pp. 931–939, 2015.